logarithm. V , Vy-Daten uy=(\ - 550)/502

logV . =(logV+logLe)/2 logVi,= —0,35L)\~u ]
logV, =logV + 0,02 logL, = -0, 35[.1A—u5m]
log [Vo, V., Adaptation: Ay =557

maximum
log(L m)=-0,02
Lm=0,95
Schwelle
t=0,00

-Daten uy=(\ — 550) / 50
=(logLo+log )/2 loglL, = —0,35l)\~ um]
= Iog + 0,08 log =-0,35u,-u ]

, Lo, Adaptatlon AL =595
3 U

700 A/nm

-Daten uy=(A — 550) / 502
)2 loglL, = —0,35[.1)\—U570]2
log i =-0,35u,—u. ]
Adaptation: A, =595
570

maximum
log(L m)=-
Lm:O,Bl
Schwelle
20,00

0,08

Iogarithm.
log =(logLo+log
log =log +0,08
log[ , Lo

0

maximum

i L m=0,81
Schwelle
t2:0,00

)

700 A/nm

600

CGK30-5A

log(L m)=-0,08

logarithm. V , Vo-Daten uy=(\ — 550) / 5

logV. =(logV,+logLo)/2 logVi,= —0,35u)-u ]2

logVo =logV + 0,02 logLo = —0,35L)—Us7d

log [Vo, V , Mg, Lo] Adaptation: A, =557
maximum
log(L m)=—0,02
L m=0,95
Schwelle

1M =V)
1(LO—V )
Uy

700 A/nm

600

, -Daten uy=(A — 550) / 5
=(logLo+log )/2 logLo = —0,35L)~ u57o]
=log +0,08 [o]s] -0,35u\—u ]
Adaptation: A, =595
maximum
log(Lm)=-0,08
Lm=0,81
Srhwvelle
= tz=0,00

700 A/nm

-Daten uy=(A — 550) / 502
=(logLo+log )/2 logLo = —0,35l)~Us7q
=log +0,08 log  =-0,35u\-u ]

Adaptation: A, =595
570 maximum
log/.%,)=-0,08
+m=0,81
Schwelle
tz=0,00

600

.

Lo =20 )
_L(,-‘?-( -
3 U

700 A/nm

600

CGK30-6A

logarithm. L , Lo-Daten

Uy=(A = 550) / 50,

logarithm. L , Lo-Daten

+log )/2 log

ur=(A = 550) / 50,
= -0,350-u- ]

logL =(log" +log )/2 log

= -0,35[n-u- ]

logL =(log

logLo=logL + 0,35
log [Lo, L., Co,

=-0,35[,-u ]
=570

log
Adaptation: A

0

—1

maximum
log(L m)=-0,35
Lm=0,44
Schwelle
t2-0,00

CGK30-7A

log  =-0,35u\-u ]

Adaptation: A =570
maxirum
15g(L m)=-0,35
Lm=0,44
Schwelle

logL, =logL + 0,35
log [Lo, L, o,

L
I
A(

—L:)
= la
u)
A/nm

CGK30-8A



